A. Guermani

Nome e Cognome

__ Schedan®1

Verifica di matematica: numeri relativi

Esercizio 1

a)  (-8)+(-8)=

b)  (+5)+(-7) =

c) (+4) + (+4) =

d)  (+6) +(+9) =

e) (+8)+(-8)=

£ (#)+(-1=

9) (-10) + (+10) =

h)  (=2) + (+3) =

i) (-8)+ (+4) =

1) (F10) + (-1) =

Data

Esercizio 2

a)  (+9-(-10)=

b) +7) - (-7 =

) (*9-(+)=

d)  (-7)-(+4) =

e)  (¥2)-(+3)=

£y (3)-(+3)=

9)  (#5)-(+35)=

h) (-9 -(9)=

D (8- (4=

1 (-D)-(-4)=

Esercizio 3

a) (-5)-(-8) =

b)  (-10) - (-10) =

© (-9 (+7)=

d)  (#7)- (+4) =

9 (1) (5)=

£y (*+9)-(-9)=

Esercizio 4

a)  (-8):(-8) =

b) +2):(-2) =

c)  (-40):(-8)=

d)  (-18):(+6) =

e)  (+28):(+7)=

£)  (+90): (-9) =

Esercizio 5

Schedan® 1

D

=g

vers. 11/11/2020

Esercizio ©

a) (+10)° =

e)  (+7p=
f) (-6)2=
g) (+9)2 =

k) (+4)3 =
1) (+8)2 =
m) (+9)1=

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

~_ Schedan®?2

Verifica di matematica: numeri relativi

Esercizio 1

a) (+7)+ (+3) =

b) (+8) + (+8) =

c)  (F10)+(-4)=

A (+6)+(-6)=

e)  (5)+(+9)=

£)  (-10) + (+4) =

9 (5)+(9)=

h) (+8) + (-2) =

i) (-6) + (+6) =

1) (+1) + (-5) =

Data

Esercizio 2

a)  (-3)-(+10) =

b)  (-9)-(-2) =

¢ (#N-(7N=

d  (-9)-(-9)=

e) (+4) - (+1) =

£y (+8) - (+10) =

9 ()~ (+4)=

h) (-5 -(-8)=

1 (#)-(N=

b D-¢#)=

Esercizio 3

a) (-9)-(-9) =

o) (+7)- (+9)=

c)  (-4) (+4) =

4y (#7)-(-3)=

9 (2 (-9=

) (-3)-(-9) =

Esercizio 4

a) (+28): (-4) =

b)  (-20):(-4)=

c)  (-10):(-10) =

d)  (-8):(+8) =

e)  (+40): (+5) =

£)  (-18):(+6) =

Scheda n° 2

D

=g

vers. 11/11/2020

Esercizio ©

®ootep=s
Py (-4)r=
R
@ eps
e)  (+Bp=
£)  (#7)2=

k) (+3)3 =
1) (+6)2 =
m) (+9)1=

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

_ Schedan®3

Verifica di matematica: numeri relativi

Esercizio 1

a) (+4) + (+4) =

by (8)+(+2)=

c)  (+9+(-9)=

d) (-8) + (-8) =

e) (-2)+ (+2) =

£)  (+10) + (-4) =

qg) (+8) + (+3) =

h) D+ 7)) =

1 (N+(=3)=

1) (+1) + (-9) =

Data

Esercizio 2

a)  (+6)-(-6)=

b)  (-10) - (+10) =

¢ (*)-(7N=

B (49~ (+9)=

e) (-10)-(+3)=

£)  (-6)-(-9) =

9 (+4)-(+3)=

h)  (+5) - (+9) =

i) (-3)-(-3)=

1 (F10)-(-9 =

Esercizio 3

a) (-5)-(-3) =

by (-8)-(+2)=

c)  (+6)-(+7)=

d)  (-9)- (+10) =

) (-2)-(-2)=

f) (+9) - (-9) =

Esercizio 4

a)  (+24):(+6) =

b)  (-36):(-9) =

c) (-3):(-3)=

d)  (+21):(-3)=

e) (-16):(+8) =

£)  (-10): (+10) =

Scheda n® 3

vers. 11/11/2020

Esercizio ©

A
b)  (-5)=
c)  (+9)°=
d)  (+42=
e)  (+3p=
£)  (-2)r=
9 (-6r=

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

__ Schedan®4

Verifica di matematica: numeri relativi

Esercizio 1

a)  (-8)+(9)=

by  (-6) +(+6) =

c) (+3) + (+3) =

d) (1) +(+35)=

e) (+6)+(-6)=

)y (+2)+(-10)=

g)  (-8)+(-8)=

h)  (=9) + (+3) =

i) (#10) +(-2) =

1) (-3)+(+5) =

Data

Esercizio 2

a)  ((N-(#2)=

b) (+6) — (+4) =

c)  (-8)-(-5)=

d) (+9) - (-5) =

e)  (+10) - (-10) =

5 (-3)-(-5)=

g) (+10) - (+10) =

(4= (+4)=

B N-n=

1) (+1) - (+10) =

Esercizio 3

a) (2)-(29=

b)  (+3)- (+2) =

) (-5)-(+5)=

d)  (+2)-(-6)=

e)  (-10)-(-9)=

£)  (+10)-(-5)=

Esercizio 4

a)  (-16):(+2) =

b) =7 :(+7) =

c)  (+14): (+7) =

d)  (+12):(-2) =

e)  (-9):(-9) =

£)  (-50): (-5) =

Esercizio 5

Scheda n® 4

vers. 11/11/2020

Esercizio ©

a) (-5)3 =

b) (+10)2 =

oo
4y (+4)°=
0o
£)  (=7)°=
g) (+2)3 =

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

__ Schedan®5

Verifica di matematica: numeri relativi

Esercizio 1

a)  (D+(ED=

by  (-6) +(+6) =

c) (-2) + (+9) =

d)  (#3)+(3)=

e) (=7)+ (+4) =

5 )+ (-2)=

g)  (-9)+(-6)=

h)  (+4) + (-10) =

i) (+8) + (+3) =

1) (+4) + (+4) =

Data

Esercizio 2

a)  (+1)-(-8)=

by  (+7)-(+3)=

c)  (+6) - (+6) =

d) (-5) - (+6) =

e) (+8)-(-8)=

£y (9)-(5=

g)  (-4)-(-3)=

h)y (=71 -(7=

i) (+4) - (+10) =

b =N-9=

Esercizio 3

a)  (+9)-(+3)=

b) (-8) - (+6) =

c)  (-10)-(-6) =

d)  (-2)-(-2)=

9 (D (9=

£)  (-3)-(+3)=

Esercizio 4

a)  (-35):(-5)=

b) (-5): (+5) =

c)  (-30): (+3) =

d)  (+42):(-7)=

e)  (+24):(+8) =

£)  (-7):(-7)=

Esercizio 5

Schedan® 5

vers. 11/11/2020

Esercizio ©

a)  (+4p=
p)  (-By=
c)  (+7)P°=
d)  (+8p=
0o
£)  (-9)0°=
g) (-3)2=

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

__ Schedan®6

Verifica di matematica: numeri relativi

Esercizio 1

a) (+2)+ (-2) =

b) (-6) + (+4) =

c) (+8) + (+8) =

d) (-4) + (+4) =

e) (-8)+(-8)=

£y  (#)+(-9=

9 (4)+(5)=

h) (+10) + (+8) =

D8+ (4)=

1) (+6) + (-4) =

Data

Esercizio 2

a)  (3)-(7N)=

by  (9-(D=

c)  (-10) - (+10) =

d)  (+2)-(+2)=

e)  (+3)-(+9)=

5 (-8)-(-9)=

9 (#N-(2)=

() -(-7)=

D) (+9)-(+1) =

1 (=9)-(H=

Esercizio 3

@ () (+5)=

b) (-9) - (+9) =

c) (-2)-(-8) =

d)  (+5)- (+6) =

9 (+6)(-7)=

SN NS

Esercizio 4

a)  (+12):(-3)=

b)  (-54):(-9)=

c)  (-15):(+5) =

d) (-9):(-9) =

e)  (+14):(+7)=

£)  (-5):(+5) =

Scheda n® 6

D

=g

vers. 11/11/2020

Esercizio ©

a) (+5)3 =

v
e)  (+3)°=
£)  (-2)r=
g) (+8)2 =

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

___ Schedan®7

Verifica di matematica: numeri relativi

Esercizio 1

a) (+9) + (-6) =

b) -N+(-1)=

c) (-8 +(+8)=

d)  (+6) +(+5) =

e)  (+1)+(-8)=

£y (3)+(-3)=

9 (+D)+(D=

h)  (=5) + (+9) =

i) (+2) + (+2) =

1) (-7)+(+3) =

Data

Esercizio 2

a)  (-5)-(+10) =

by (+8)-(-8)=

c)  (+4)-(-6)=

d) (+9) - (+4) =

e)  (+3)-(+9)=

£)  (-10)-(-4) =

9 (3)-(3)=

h)  (2)-(+2)=

i) (+10) - (+10) =

b D-(9=

Esercizio 3

a)  (+5)-(+8) =

b) =7)-(+4) =

) (2)-(2=

Q) (+10) (-4) =

e)  (-7)-(-4)=

£)  (-6)-(+6) =

Esercizio 4

a) -9):(-9) =

b)  (+54): (+9) =

c)  (-36):(+4) =

d)  (+40):(-5) =

e)  (-28):(-4)=

£) (+2): (-2) =

Esercizio 5

Scheda n® 7

D

=g

vers. 11/11/2020

Esercizio ©

a)  (-10)2=

b)  (-8)r=

c)  (+7)3=
vooer=
e)  (+3)°=

£)  (#72=

g) Cep=
h)  (-10)t=
e
DooweEs
k) (+5)2=

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

__ Schedan®8

Verifica di matematica: numeri relativi

Esercizio 1

a) (+4) + (+3) =

b) (+1) + (+1) =

c) (95 +(+8)=

A (19 +(-8)=

e) (+2) + (-10) =

) (-6)+(-6)=

9 (-9 +(+9)=

h) (+4) + (-4) =

i) (-9)+ (#3) =

b (D) +(-N=

Data

Esercizio 2

a)  (-6)-(-6)=

b) (+2) - (+10) =

c) (-1)-(-6) =

9 (+8)-(+5)=

e) (+8)-(+8)=

£y (#nN-(-5=

9 (9-(2=

h)  (=3) - (+10) =

i) (+10) - (-10) =

b =nN-@#n=

Esercizio 3

a) (-6) - (-9) =

b) (+8)-(-7) =

c)  (#7)-(+9)=

4 (-9)-(-9)=

e)  (-10)- (+8) =

5 () (-4)=

Esercizio 4

a)  (+32):(+4) =

b)  (+45):(-5) =

c)  (-50):(-10) =

d)  (-8):(+2) =

e)  (-10):(-10) =

£) (+2): (-2) =

Esercizio 5

Scheda n® 8

vers. 11/11/2020

Esercizio ©

A
b) (+7)2 =
9 cer=
d)  (+5)2=
R
£)  (-6)=
g) (+5)° =

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

__ Schedan®9

Verifica di matematica: numeri relativi

Esercizio 1

a) (+6) + (+6) =

by (-8)+(+8) =

c) (-1) + (+4) =

d) (+1) + (-4) =

e) (+2) + (-2) =

£)  (-10) + (-10) =

g)  (-7)+(-8)=

h)  (-5) + (+3) =

i) (+5) + (+8) =

1) (+7) + (-6) =

Data

Esercizio 2

a) (+3) - (+2) =

p)  (~4)-(-4)=

c)  (-8) - (+10) =

d)  (-4)-(-10) =

e) (9 -(+9)=

£y (+9)-(-6)=

9)  (-9)-(-1)=

h)  (+2) - (+4) =

1) (#9)-(-H=

1) (7)-(7)=

Esercizio 3

a) (+8)-(-10)=

b)  (-8)-(-4)=

© (-9 (+9)=

d)  (+9)- (+2) =

el (n-(n=

£)  (+10) - (-7) =

Esercizio 4

a)  (-42):(-7)=

D)  (+35): (+5) =

c)  (+24):(-8)=

d)  (+10): (-10) =

) (-8):(+2)=

£)  (-6):(-6) =

Esercizio 5

Schedan® 9

vers. 11/11/2020

Esercizio ©

a)  (-10)2=

e)  (-8p=
£)  (-7)r=
g)  (-4)r°=

J) (+3)1=
k) (+3)2=
1) (+2)32 =

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a)  (9+(9)=

b) (-5) + (-5) =

c) 7N+ 7)) =

d) (-10) + (+10) =

e) (-6) + (+7) =

£y (#3)+(-6)=

9 (#9+(3)=

h) (+5) + (-5) =

i) (-10) + (+1) =

1) (+3) + (+1) =

Data

Esercizio 2

@) (+4)-(+6) =

b) (-2) - (+5) =

c)  (+4)-(-10) =

d) -2)-(-3)=

e)  (+6)-(+6) =

) (-6)-(+6) =

g)  (-8)-(-3)=

h)  (+10) - (+8) =

1 DH-D=

1) (+D)-(-1)=

Esercizio 3

2 (+4)- (4=

by (+6)-(-2) =

c) (-8)-(-8) =

d)  (-6)-(+2) =

e)  (+9)-(+3)=

55 ()=

Esercizio 4

a)  (-4):(-4) =

b)  (-30):(-10) =

o) (42):(-2)=

d)  (-72):(+9) =

e)  (+18):(+6)=

£)  (+50): (-5) =

Scheda n® 10

D

=g

Scheda n® 10  vers. 11/11/2020

Esercizio ©

a)  (#7p=
b)  (+5)°=
c)  (+9)2=
d  (-5)°=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (+3)+ (-3) =

b)  (+10)+(-5) =

c) () +(-8)=

d) (-8) + (+1) =

e) (-1) + (+6) =

f) (+7)+ (+9) =

9)  (-10)+ (+10) =

h) (-9 +(=9)=

i) (+3)+ (+3) =

1 (9 + (9=

Data

Esercizio 2

a)  (-5)-(-6)=

by (+6)-(-3)=

c)  (+10)- (+3) =

d)  (-2)-(+2)=

e) (+2) - (+2) =

£)  (-8)-(-3)=

9 ((9-¢D=

h)  (+4) - (+5) =

i) (-8)-(-8)=

b ¢n-(n=

Esercizio 3

@ (42 (9=

by (+8)-(-6) =

c) (-8) - (-6) =

d)  (+5)-(#2) =

SN

) (-9) - (-9) =

Esercizio 4

a) n:(7n=

b)  (-32):(-8) =

c) (-90) : (+10) =

d)  (+60):(-6) =

e)  (+5):(-5)=

£) (+24) : (+4) =

Schedan® 11

Scheda n® 11  vers. 11/11/2020

Esercizio ©

R A
b)  (+8)2=
9 cer=
d  (+6)3=
R
£)  (+9)0°=
g)  (-9p=

k) (+3)2=
1) (+8)3 =
m)  (-10)*=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (+1) + (-3) =

b) D)+ +1)=

c) (+4) + (+4) =

d)  (-5)+(-7)=

e)  (+6)+(-3)=

£) (7)) + (+4) =

9)  (9)+(+39)=

h)  (-8)+(-8)=

i) (+9) + (+1) =

1) +7)+(-7) =

Data

Esercizio 2

a)  (+2)-(-D=

by  (8)-(1=

c)  (+6)-(-6)=

d) (+10) = (+5) =

e)  (-9)-(-9)=

) (F10)-(+2) =

9)  (-1)-(-9)=

h)  (+4) - (+4) =

1 (3)-(+3)=

1) (#3) - (+10) =

Esercizio 3

a) (=5) - (-5) =

b)  (+10) - (-7) =

© (-9 (+9)=

d)  (-8)-(-2)=

e)  (+8)-(+5) =

£)  (-10) - (+9) =

Esercizio 4

a)  (+36):(-9) =

b) (+12): (+4) =

c)  (-4):(-4) =

d)  (-12):(-4)=

) (#2):(-2)=

£)  (-12):(+3) =

Esercizio 5

Scheda n® 12

D

=g

Scheda n® 12 vers. 11/11/2020

Esercizio ©

a)  (#3)2=
p)  (-4p=
c)  (#9p=
¥ o
! s
f)  (-8)3=
g (+7)°=

1) (+6)2=
3) (+8)3 =
k) (+5)1=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a)  (-7)+(+10) =

b) (+2) + (-10) =

c) D)+ =

d) (+6) + (-2) =

e)  (-10) + (-10) =

f) (+9) + (+9) =

9 (+9+(-9)=

h)  (=9) + (+1) =

i) (+8) + (+10) =

b =N+(D=

Data

Esercizio 2

a)  (-10) - (-10) =

b)  (+4)-(+3) =

c)  (-6)-(+6) =

9 (+3)-(+3)=

el (#9-(D=

f) (+2) = (+5) =

9 (3)-(-4)=

N (8- (4)=

1 (2)-(D)=

1 (+8)-(-8)=

Esercizio 3

@ (49 (9=

b)  (-5)-(-5)=

c)  (-2)-(+7) =

d)  (-3)-(-4)=

e) (+3) - (+4) =

£)  (-10) - (+9) =

Esercizio 4

a)  (-12):(-2) =

b)  (-80): (+8) =

c)  (-4):(+4)=

d)  (-6):(-6)=

e)  (+12):(-6)=

£)  (+20): (+10) =

Esercizio 5

Scheda n® 13

Scheda n® 13 vers. 11/11/2020

Esercizio ©

ot
b)  (-2p=
c)  (+8)°=
d)  (+4p=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (+10) + (+10) =

b) (-5) + (-5) =

c) (-2)+ (+3) =

A (+3)+(-6)=

el (A+(9)=

f) 7+ @H7)=

9 (#N+(7)=

h)  (=9) + (+3) =

i) (+2) + (+6) =

1) (+10) + (-1) =

Data

Esercizio 2

a) (-8 -(+8)=

b)  (-2)-(-2)=

c)  (+10)- (+9) =

d)  (+8) - (-4) =

e)  (+4)-(-4)=

£)  (<9) - (+4) =

9 (3-(2=

h) (1) -(-10) =

1) (+6) - (+6) =

1) (+1) - (+5) =

Esercizio 3

a)  (#7)-(+8) =

by (-9)-(+9)=

c) (-9)-(-9) =

4} (+2)-(-9)=

e)  (-8)-(-5)=

£)  (+10)- (-8) =

Esercizio 4

a) (+21): (+7) =

b)  (-7):(-7)=

c) (+45) : (-9) =

d)  (+4):(-4) =

e)  (-30):(-3)=

£)  (-28):(+4) =

Esercizio 5

Scheda n°® 14

D

=g

Scheda n® 14  vers. 11/11/2020

Esercizio ©

A
b)  (-6)=
c)  (+6)2=
vooep=
e)  (+5)°=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (+3) + (+3) =

b) (+4) + (+9) =

c) (9+(9)=

d) (-6) + (-10) =

e) (+8) + (-4) =

) (#9)+(-6)=

9) (-10) + (+10) =

h)  (-10) + (+1) =

i) (+2)+(-2) =

1) (-2)+(+5) =

Data

Esercizio 2

a)  (-3)-(-1)=

b) (+5) - (-9) =

c) (N -(+9)=

d) +7)-(-7) =

e)  (-2)-(-6)=

£y (-8)-(+3)=

9) () -(+4)=

) (7)-(7)=

D) (#5)-(+1) =

1 (=3)-(3)=

Esercizio 3

@ (43 ()=

b) (+10) - (+4) =

) (2)-(2=

d)  (+8)-(-8) =

el (-8)-(-9=

£)  (-9)- (+10) =

Esercizio 4

a)  (~40):(-5)=

b)  (-6):(-6) =

c)  (+32):(-8)=

d)  (+14): (+2) =

e)  (-70):(+7) =

£)  (+2):(-2) =

Esercizio 5

Scheda n® 15

Scheda n® 15 vers. 11/11/2020

Esercizio ©

a)  (+9)2=
p)  (-3p=
oo
d)  (+2)0°=
e)  (+83=
£)  (-B)e=
g) (=7r=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a)  (+9)+(-10)=

b) 7N+ (=7 =

c)  (+8)+(-8)=

d) (+4) + (+2) =

e) (-9 +(-6)=

f) (=3) + (+6) =

g)  (-5)+(-5)=

h)  (=2) +(+2) =

i) (-10) + (+8) =

1) (+5) + (-4) =

Data

Esercizio 2

) ()~ (+4)=

b) (+10) - (+1) =

¢y (#N-(2=

4 (3)-(7N=

e)  (-4)-(+4)=

f) (-10) - (-6) =

9)  (+10) - (-10) =

b (-8)-(+7)=

1 DH-D=

1) (+6) - (+6) =

Esercizio 3

a) (-5)-(-8) =

by (+8)-(-8) =

© (1) (+6)=

d)  (-7)-(#9) =

e) (+4) - (+8) =

£)  (-10)- (-10) =

Esercizio 4

a)  (-21):(-7)=

b) (-80) : (+10) =

c)  (-3):(-3)=

d)  (+36): (+4) =

) (#2):(-2)=

£)  (+12):(-2) =

Esercizio 5

Schedan® 16

Scheda n® 16  vers. 11/11/2020

Esercizio ©

a) (+9)3 =

oo
d)  (+ap=
R
£)  (#4)°=
9) (-8)° =

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) )+ (7)) =

by (-8)+(+8) =

c)  (+3)+(3)=

d) (-2)+ (+3) =

e)  (+4)+(-10) =

£)  (-7)+(-1)=

g) (+2) + (+8) =

h) (-9 +(-9)=

i) (-6)+ (+1) =

1) (+10) + (-5) =

Data

Esercizio 2

a)  (+4)-(-10) =

by  (3)-(3)=

c)  (¥5)-(+9)=

d) (+6) — (-6) =

e)  (-1)-(+9)=

f) (-10) - (-1) =

9 (4H-(+4)=

h)  (+6) - (+8) =

1 (3)-(-H=

1) (#9) - (+7) =

Classe

Esercizio 3

@ (+6) (8=

b) (-2) - (+2) =

c)  (+10)-(-2) =

d)  (-8)-(-4)=

el (-9-(-9=

£)  (+2)-(+5) =

Esercizio 4

a)  (+30):(-5) =

b)  (-5):(-5)=

c)  (-3):(+3)=

d)  (-10):(-2) =

e)  (+70): (+10) =

£)  (-12): (+3) =

Esercizio 5

Schedan® 17

Scheda n® 17  vers. 11/11/2020

Esercizio ©

a) (-8)2=

e)  (-5)P°=
£ (-2p=
9) (+8)° =

http://antonioguermani.jimdofree.com/



A. Guermani

Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a)  (-8)+(9)=

b) N+ (-7)=

c) (+5) + (+5) =

d)  (+6)+(-9) =

e) (+9) + (+6) =

f)  (=4)+ (+6) =

g) (-10) + (+6) =

h) (+8)+ (-1) =

i) (+2)+(-2) =

1) (-5)+(+5) =

Data

Esercizio 2

a)  (-3)-(-10) =

b)  (-4)-(-3)=

c)  (+6) - (+6) =

d) +4)-(-4) =

e)  (-6)-(+9)=

f)  (+6) - (+7) =

9) (-8 -(+8)=

h)  (#5)-(+2)=

1 () -(-9=

1) (-10) - (-10) =

Classe

Esercizio 3

SECONTOE

) (-7 (9=

c)  (+10)-(+3)=

d)  (+6)-(-4) =

el (2)-(-29=

) (-8)-(+2)=

Esercizio 4

a) (+20) : (-5) =

b) (-5): (+5) =

c)  (-B):(-6) =

d)  (#35):(+7) =

e)  (-28):(+4)=

£)  (-72):(-8) =

Esercizio 5

Scheda n® 18

Scheda n® 18  vers. 11/11/2020

Esercizio ©

a)  (+9)2=
p)  (-3)2=
c)  (+6)p=
¥ oors
e)  (+2)°=
f) (3=
g (-2)°=

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (+6) + (+6) =

b) (+1) + (+9) =

c)  (+10)+(-5) =

d) (-2) + (+4) =

e) (100 +(-6)=

5 (-8)+(-8)=

9) () +(-4)=

h) 7+ (-9 =

i) (7 +@ET)=

1) (7)) +(+1) =

Data

Esercizio 2

a) (+8)-(-2)=

by (-6)-(-6)=

c) (-9 -(-2)=

d) (-2) - (-6) =

e) (9 -(+35)=

£y (+3)-(-3)=

9) (-5) - (+10) =

h)  (+1)-(+3)=

) (+3)-(+3) =

1) (-4)-(+4) =

Esercizio 3

2 (7) (4=

b) (-3)- (+2) =

) (+8)- (8=

d)  (-3)-(-2)=

e)  (-10)- (-10) =

f)  (+4)- (+3) =

Esercizio 4

a) (-8): (+8) =

b)  (-27):(+3) =

c)  (+18):(+9) =

d)  (-60):(-6)=

e)  (-6):(-6)=

£)  (+70): (-7) =

Esercizio 5

Schedan® 19

Scheda n® 19  vers. 11/11/2020

Esercizio ©

a) (+10)3 =

e)  (-8)°=
£ (-7p=
9) (+2)° =

http://antonioguermani.jimdofree.com/



A. Guermani  Nome e Cognome

Verifica di matematica: numeri relativi

Esercizio 1

a) (-2)+ (+2) =

b)  (-10)+(-7) =

c) (+5) + (+5) =

d) (+10) + (-10) =

e) (+5) + (1) =

5 (3)+(-4)=

9) () +(+8)=

h)  (=9) + (+6) =

i) (+6) + (+5) =

1) (-8)+(-8)=

Data

Esercizio 2

a) (+9) - (+1) =

b) =7 -(H7)=

c) (+4) - (-4) =

d) (-5 -(-4)=

e) (-8)-(-9)=

f)  (#2)-(+2) =

9 (7)-(-7)=

(-3~ (+4)=

i) (#3)-(+4) =

1) (+1)-(-6) =

Esercizio 3

a) (2)-(29=

by (#9)-(-7)=

c)  (#3)-(+7)=

d)  (-9)-(-2)=

9 (+9)-(-9)=

£y (#7)-(-9)=

Esercizio 4

a) (+20): (-2) =

b)  (-8):(-8)=

c)  (+80): (+10) =

d)  (-16):(+2) =

e) (-18):(-3)=

£)  (+5):(-5) =

Scheda n°® 20

D

=g

Scheda n® 20  vers. 11/11/2020

Esercizio ©

a) (=3 =

b) (+10)2 =

d)  (+4)°=
e)  (+32=
£)  (-4p=
g) (-8)3 =

http://antonioguermani.jimdofree.com/
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